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1. AR A o] A 4= 20,000| 20,000 0
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2. A BA /& AzL B A 30,465 32,602 -2,137
1.94 #e 10,589 10,682 -93
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2. 84T HE 2,570 2,570 0
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2.0 5$FH| 2,248 2,248 0
3. F5otelgE 1,400 1,400 0
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1.3t 52 ) 200 200 0
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1.8 A HA ] 400 400 0
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1.=A7-94H] 3,000 3,000 0
4. A m AL (5] 840 840 0
1.8 BAn) 840 840 0
3.71e A97 uSds 464 464 0
1.3t &2 464 464 0
1. okl 2 1 3e-od 464 464 0
1.9 200 200 0
2.0 5$FH| 264 264 0
5. %% A9 34,251 32,471 1,780
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1. 073 AbE- 770 1,400 -630
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195489 100 200 -100
1.4 100 200 -100
1. 0o 100 200 -100| W54 AREF 9] 1 -100,000913]= -100,000
2.7 8314 2 3,630 4,190 -560
1.8 AR Y 3,630 4,190 -560
1. dRkp8n) 1,440 1,440 0
2.0 5%&qH| 1,750 1,750 0
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